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Rappel :
	x
	0
	EQ \s\do1(\f((;6))
	EQ \s\do1(\f((;4))
	EQ \s\do1(\f((;3))
	EQ \s\do1(\f((;2))

	cos x
	
	
	
	
	

	sin x
	
	
	
	
	


Exercice 0A.1
	a. cos EQ \s\do1(\f((;4)) = ……
	b. sin EQ \s\do1(\f(5(;6)) = ……
	c. cos 0 = ……
	d. sin EQ \s\do1(\f((;3)) = ……

	e. cos - EQ \s\do1(\f((;4)) = ……
	f. sin - EQ \s\do1(\f((;6))= ……
	g. cos EQ \s\do1(\f(5(;6)) = ……
	h. sin EQ \s\do1(\f(-2(;3)) = ……

	i. cos EQ \s\do1(\f(2(;3)) = ……
	j. sin ( = ……
	k. cos EQ \s\do1(\f(3(;4)) = ……
	l. sin EQ \s\do1(\f(-3(;4)) = ……

	m. cos EQ \s\do1(\f(-(;3)) = ……
	n. sin EQ \s\do1(\f((;4)) = ……
	o. cos EQ \s\do1(\f((;3)) = ……
	p. sin 0 = ……


Exercice 0A.2
	a. cos x = r(3)EQ \s\do1(\f(;2))
 donc x = ……… ou ………
	b. sin x = r(2)EQ \s\do1(\f(;2))
 donc x = ……… ou ………

	c. cos x = EQ \s\do1(\f(1;2)) donc x = ……… ou ………
	d. sin x = 1 donc x = ……… ou ………

	e. cos x = - r(3)EQ \s\do1(\f(;2))
 donc x = ……… ou ………
	f. sin x = - r(2)EQ \s\do1(\f(;2))
 donc x = ……… ou ………

	g. cos x = -1 donc x = ……… ou ………
	h. sin x = - EQ \s\do1(\f(1;2)) donc x = ……… ou ………

	i. cos x = 0 donc x = ……… ou ………
	j. sin x = - r(3)EQ \s\do1(\f(;2))
 donc x = ……… ou ………


Exercice 0A.3
	a. cos x = r(3)EQ \s\do1(\f(;2))
 et sin x = - EQ \s\do1(\f(1;2)) donc x = ……
	b. cos x = - r(2)EQ \s\do1(\f(;2))
 et sin x = - r(2)EQ \s\do1(\f(;2))
 donc x = ……

	c. cos x = 1 et sin x = 0 donc x = ……
	d. cos x = 0 et sin x = -1 donc x = ……

	e. cos x = - r(3)EQ \s\do1(\f(;2))
 et sin x = - EQ \s\do1(\f(1;2)) donc x = ……
	f. cos x = - EQ \s\do1(\f(1;2)) et sin x = - r(3)EQ \s\do1(\f(;2))
 donc x = ……


Exercice 0A.4

Ecrire sous la forme d’un nombre aEQ \r(b) avec b le plus petit possible :

Exemple : EQ \r(28) = EQ \r(4 ( 7) = EQ \r(4) ( EQ \r(7) = 2EQ \r(7) 
	a. EQ \r(75) =
	b. EQ \r(18) =
	c. EQ \r(12) = 

	d. EQ \r(50) =
	e. EQ \r(20) =
	f. EQ \r(44) =

	g. EQ \r(27) =
	h. EQ \r(147) =
	i. EQ \r(8) =

































































































































































�EQ \s\do1(\f(-(;4))�





( ou -(





�EQ \s\do1(\f(-3(;4))�





�EQ \s\do1(\f(-2(;3))�





�EQ \s\do1(\f(-(;6))�





�EQ \s\do1(\f(-(;2))�





0 ou 2(








�EQ \s\do1(\f((;6))�





�EQ \s\do1(\f((;4))�





�EQ \s\do1(\f((;2))�





�EQ \s\do1(\f((;3))�





�EQ \s\do1(\f(-5(;6))�





�EQ \s\do1(\f(2(;3))�





�EQ \s\do1(\f(5(;6))�





�EQ \s\do1(\f(-(;3))�





�EQ \s\do1(\f(3(;4))�








